Shioy Lo juozmo 558w yoko Jloz s J xS (w0 pylez 059

93995 Gl ol J yiiS

A 50 i Oyge al) (So5d le el )b ladie pieaw (ol )0 am0 o LA T e Joe pj IS

=

J.’:‘J.:.i:

93995 Galad s p)loz SO Joe

5,555 o> M, = 2500kg
Gl s 5 ST, M, =320kg

5ol s 53 i s K, =8000N/m

5955 b e oo K, =500000N /m

Gals o 398y ot oy B =350 N.5/m
Gt s 155 (w wa o B, =15020 N.s/m
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X, (8)=X,(s) (M, +M,)s’ +b,s+k,

Transfer Function:G,(s) =

U(s) A(S)
Transfer Function:G, (s) = Xl(SV)V—(S>)<2(S) _ —MleSA(;)Mlkzs |

A(S)=(Ms*+bs+k)M,s*+ (b +b,)s+k +k,)—(bs+k)(b,s+k,)
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